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vl
= df.(Treatments)  = (t  - 1)

v2
= df.(Error)  = (t - l)(r - 1)

,.
MSE(CRD) = 4C12.46)  + 2OC5.41)  = 6 . 5 8 5

24

RE. = 6.585,'5.41 = 1.22

9 v

Sll  df.(error)  < 20 nas?=Li precision factor ti5fl7&$

= (f,, + l)(  fCR* + 3) SZR.

(fRB + 3)(f CR.
+ 1) s2

RB‘

( f = df (error)

x..  =
13

!.I + Ti + H + s. , i = 1,2,...,t
3 11

j = 1,2,...,r  (b)

nauprtiiaesd  i : 2 bJ  = 0 , i = 1,2,.-.,x
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Blocks u2+ tx+-1)

Treatments CT2 + r27f/(  t-1

Error

u2+ ta2 02+ tCB?/(r-1)
2

f r:f U2  + ru:

(3  + tu
2
0

cl2 a2  + rC+t-l)

1 c f 2

x.. = P + Ti +'j+"  ' 1 = 1,2,...,t13 11

j = 1,2,...,r

0 =
I

P -1-I
3^

Bj  = Xoj - 2..

E..  =11 ‘ij - ’ - 7’ - 0.1 3
i..  = (2.11 xlj- z -. . 1. - F..) - cxij- .T ). .

= xij - Xi- - xij+ x . .
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B1 = 5 . 2 - ,7.5 '= - 2 . 3

i2 = 7 . 6 - 7 . 5 = 0.1

1
B3 = 8 . 4 - 1.5 = 0 . 9

d
^
B, = 9 . 4 - 7.5 = 1.9

1.0 - 7.5 = -0.5

0.1

t 2
r cr.

(p2 = 1=1 1

to2

.

“1
= t-1 .) v2 = ct-l)(r-1)

2. random model

1%  Chart VI
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11 = i=l 1 P.  1 22 5 . 0
5

b

Gut%2  r1 = p1  - p = 5.0 - 5.0 = 0

7* = p2 - 1-I = 8 . 0 - 5 . 0 = 3

7 =3 lJ3-Ll = 4 . 0 - 5 . 0 = -1

7 4 = v4-u = 3 . 0 - 5 . 0 = - 2

7 5 = PL5-P = 5 . 0 - 5 . 0 = 0

CT2  = 2
1 (o)2+(3)2+(-1)2+(-2)2+~o) = 1 4

t
02 =

I c72
i=l 1 (6) (14)= = 4 . 2

to2 (5)(4) .

cp  = 2.049

v1 = 5-l = 4 )
v2 = (5-1)(6-l)  = 2 0

Wfl Chart V, 01  = -05  , v1 = 4 , “2 = 2 0  d6

B ‘I .06

I

- 5
ii1  c72 = 14 am”, cJ*

i=l  1
= 4.0
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B = 30.53; T = 15.93; G = 100.48 + 7.91 = 108.39

a2
= 3C30.53)  + 5C15.93)  - 108.39 = 7.86

8

Block A

1 6 1

Experiment 1 2 65

(Plot size : 1140  acre) 3 60

4 75

Experiment 2 1 64 74 69

(Plot size : l/SO acre) 2 60 60 63

3 54 51 59

4 48 55 62

Variaty

B

60 64 69

66 66 80

55 68 72

70 80 X0

C D

73

63

50

67

E

83

83

70

89

75

70

64

65
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Treatments

ANOVA

Sum of Squares Mean Square

variaty

Estimated Yield (LWAcre)

Estimated standard

deviation of estimates

A B C D E

Experiment 2 2837 3ooO 3162 3162 3425

MSE (Exp. 1) = 402 x 160.8
12

MSE (Exp. 2) = 502 x zgs

Ratio (2 to 1) = 2 . 0 8

Ho 2 2 2: 7 = a2
;

H a :
O1

F = larger S2  = 2.08 ;
S m a l l e r  S2

f12,12L05)  = 2-6g
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21 20 22

20 19 21 (Am. F = 22.73)

20 19 22

18 19 20

18 17 18

18 18 19

18 16 19

16 15 18

16 13 15

10 15 14 16

25 27 24 28 22 126

24 32 29 26 24 135 (ANS. F. = 16.26)

31 35 27 36 26 155

40 45 33 42 30 190

43 50 38 46 33 210

45 48 40 52 36 221

51.N 208 237 191 230 171 1037
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lJa”sn

1

2

3

4

5

6

7

8

9

IO

11

12

13

14

15

16

17

18

ST 332

iih

fl “u n

18 19 15

1 5 14 13

16 18 17

18 14 15

19 13 13

20 16 11

19 17 15

17 16 14 (Ans. F = 2.20)

18 17 ' 13

20 16 14

16 16 19

11 15 18

11 19 19

16 17 21

15 15 18

14 16 21

13 16 20

16 15 17

1 0 7



l&ln %ms
n “u n

19 14 14 18

20 14 17 19

21 17 17 15

22 13 15 19

23 16 18 ’ 18

24 12 15 17

25 13 15 17

26 15 18 18

27 13 16 16

28 13 16 13

29 14 16 15

30 14 14 17

1 1 2 3 3

2 2 3 4 2 (Am F. = 2.75)

3 3 4 5 1

m&aY”J
a’pd A B C D

1 293 308 323 333 (F = 4481.61218.9  = 20.5) W%l~~fYJ

2 298' 353 343 363 F (k)  =  536.61218.9  = 2.45)

3 280 323 350 368

4 288 358 365 345

5 260 343 340 330
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u&xl

1

2

3

4

hm&&whdlas

wkl! Chalk Lime

149 135 147

137 151 131

114 143 103

140 146 147
1

1 16.9 18.2 17.0 15.1 18.3

2 16.5 19.2 18.1 16.0 18.3

3 17.5 17.1 17.3 17.8 19.8

1 1 0 ST 332



2

1 I I5.8 8.2

0.5 I 3.5 I 3.5

W’Jhl

A B

47.0 52.5

21.5 22.0

10.2 13.0

5.0 6.0

T 3‘ 4 5

A B A B A B

48.5 46.5 44.2 44.2 42.5 43.5

24.5 23:0 17.8 17.8 17.0 17.5

16.5 11.0 9.5 15.2 11.0 10.5

9.8 6.8 5.2 3.5 3.8 4.7
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df. Mean Square

df. MS. E (MS)
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df. MS.

df. Mean Square

tsw3J;mw

^aini-i

Experimental error

Samples within plots

Determinations per

Sample

4 240

5 360

20 120

150 60

180 4
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